27N 1y 2005  15mn NVPPIN NPHNONIIT MWD 201-1-9591  ©ONMPN DN NNIINA

OHIIN NAY NI DIIINN OINN DIXNYND

U =ar’Uy, , (@#0,t>0,0<x<l), u(x0)=f(x) .a

2
00 - an—ﬂ t
u(,t) = u(l,t) =0 {sinnl—ﬂx} u(xt) = > bye ( | j sin”l—’ZX
n=1
@2n+1)z )
(2n+ 1) a —(a”Tj t n+1)m
Ue(0,t) =u(l,t) =0 | <cos-=——>—=1 | u(x,t)= > bse cos———
21 e 21
en+d)z )
(2n+)mx e —(anil] t o @2n+D)ax
u0,t) =u(1,t) =0 | {sin=——="=1 | u(x,t) = > be sin————=
2i e 2
b o0 —(cxn”jzt
U, (0,t) = U, (I,t) = 0 {1, cos?} u(xt) =2+ e - cos?
=
U, = o2u,, +bu=u(x,t) =v(x,t) e’ = v, = a?v,, b
: 1 NpNT

u; =16u,, ,u, (0,t) =u(rz,t)=0, t>0, u(x,O):4cos3—2X—5<:05%,O<x<7z

Mno
Uy =16U,, . _
U, (0,t) =0} = u(x,t) = ane‘4(2”+1)2t cos (2N H1)X
u(z,t)=0 n=0
by =4
(2n+1)x 3x 7X 1

u(x,0) = > by, cos =4cos?—5cos—:> by =-5
n=0

by,=0 , n#ln=#3

u(x,t) = 430 cos 37)(— 5o 196t o /X

U=0 NMVIPNL (x=1) N NP, (OIN 2V PNX) TN (x=0) VLN OY TNN ISP . 1
S1>0 May u(xt) INNRSND .U, 2 VY VI DI MHNONNN NNVINLY
N9NNN NOY MY2 NX NOIN ( N
DMNWYN NTION YT-DY NN NN (2
VINN SV PRYNNN NNV .0° MY NNVIVNV 2 PPN | TN VIVN SV INSP . 2
v
37 X

Ct>0 MY u(x,t) NN NN . u(x,0)=3sin”TX—2sinT 5



2N 2y 2005  15mn NVPPIN NPHNONIIT MWD 201-1-9591  ©ONMPN DN NNIINA

: DXOMNXNN OONINN NN OOPHNN NHNN OIND DIRNYND Y 099 PINS KRXND
3)u, =U,, —3u,u(0,t) =ut)=0, t>0, u(x,0)=(x-x)e", 0<x<1
X, 0<x<1

4)u, =4u,, ,u(0,t) =u(2,t)=0, t>0, u(x,0)=
) U =4y, u(0,) =u() (x.0) {2—x,1<x32
5) U =Uy,u,(0,t)=u(r,t)=0, t>0, u(x,O):3cos5—2X,O£x£7r

6) U, = 4u,, ,u,(0,t) =u,(7,t)=0, t>0, u(x,0)=cos’x,0< x<
7)u, =u, —u,u(0,t)=u,(1,t)=0, t>0, u(x,0)=x,0<x<1

:MAVN

du. o (_1)n+1 _[(Zn—l)mx]zt (2n-1)zx
Du(xt)=—23 e 2 cos~ 277
T na 2n-1 2l

2 2
2) u(x,t) = 3¢~ (7¢/) tsinﬁTX —2g(37all) tsin#

o] —(— n o0
3) u(x,t) = ig ety CD et ginngx = B e Y _ 1 g sin(2n—1)7zx

V4 N z n-1(2n-1)3
sin "%
8 & 7 -2z i, N7TX 8 & (_1)n+l —(2n-1)2 7% o (zn _1)72-)(
Hu(xt)=— > e sin— =—> ——>—¢ sin———
72'2 n=1 I’]2 2 72'2 n=1 (2n —1)2 2

By gy
5 u(x,t)=3e 4 cos?

6) u(x,t) = 0.5+0.5671%" cos 2x



